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Hanif asked ten people:

‘What is your favourite sport?’
Here are his results.
football cricket football hockey swimming
hockey swimming football netbal football

Is it possible to work out the mean of these results?

Yes No

Explain how you know.

Is it possible to work out the mode of these results?

Yes No

Explain how you know.




image8.jpg
1. Ateacher asked 21 pupils to estimate the height of a building in metres.

The stem-and-leaf diagram shows all 21 results.

6 |5 represents 6.5m 6 |5 9

10 (4 8

1n (2 7

(a) Show that the range of estimated heights was 5.2m.

\

()

in estimated height?

(c) The height of the building was 9.2m.

What percentage of the pupils over-estimated the height?

\7
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The mean of a set of numbers is zero.

For each statement below, tick () the correct box.

\

All the numbers in
the set are zero.

The sum of the numbers in
the set is zero.

There are as many positive numbers
as negative numbers in the set.

be true

be true

be true
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18.

Chris read the first 55 numbers from a book of random numbers.

As he read each number he recorded it in the diagram below.
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(a) What was the largest number he recorded?

(b) Explain how Chris could change the diagram to make it easier for him to find
the median of his data set.
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10.

(a)

(b)

Chris read the first 55 numbers from a book of random numbers.
As he read each number he recorded it in the diagram below.

0[5 9 8 3 4 1
1/6 3 1 0 3

2 (8 2

3 |1 1 6 9

4 |6 9 9 4 7 0
6 |5 7 7 6

6 |0 2 8 4 8 0 3 5
7 (6 8 0 1 5 4
8|6 6 9 2 8 5 7
9 [6 7 8 0 0

What was the largest number he recorded?

Explain how Chris could change the diagram to make it easier for him to find
the median of his data set.
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24. 5000 puplls took part in a test. Pupils took two papers, paper 1 and paper 2.
The graph shows the cumulative frequencies of their marks for each paper.
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(a)

(b)
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Use the graph to answer these questions.

For each question tick (v) True, or Faise, or Not enough information.

‘The median mark for paper 1 was about 38

True

False

Explain your answer.

‘The inter-quartile range of the marks for paper 1 was about 23

True

Faise

Explain your answer.

Paper 1 was easier than paper 2.

True

Faise

Explain your answer.

Not enough information
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20.

On a street, there are 100 houses.

60 are terraced houses.
30 are semi-detached.
The rest are detached.

‘The table shows the mean number of bedrooms in each type of house.

What is the mean number of bedrooms per house on this street?
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A pupil recorded the times of 23 people running the 100 metres.

The stem-and-leaf diagram shows the results.
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13 | 6 represents 13.6 seconds

Two of the people ran the 100 metres in 14.7 seconds.
How many of them ran the 100 metres faster than this?

\—

people
What was the range of times?
seconds
What was the median time?
\ seconds
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12, Gita threw three darts.

Use the information in the box to work out what numbers she threw.

The lowest number was 10

The range was 10

The mean was 15

Gita's numbers were i and
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A pupil recorded the times of 23 people running the 100 metres.
The stem-and-leaf diagram shows the results.
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Two of the people ran the 100 metres in 14.7 seconds.
How many of them ran the 100 metres faster than this?

\._

people
What was the range of times?
seconds
What was the median time?
\ seconds
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Gita threw three darts.
Use the information in the box to work out what numbers she threw.

Gita's numbers were . and
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24.

\

The mean of five numbers is 10

1 add one more number and the mean is now 11

What number did | add?





image20.jpg
There are 6 units in an exam course.
Each unit is marked out of 100
To get grade A, the mean mark of all six units must be at least 80

Tom has taken five units. His mean mark is 78

To get grade A, how many marks must he get on the last unit?
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16.

\

The mean of five numbers is 10

| add one more number and the mean is now 11

What number did | add?
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15.

There are 6 units in an exam course.
Each unit is marked out of 100
To get grade A, the mean mark of al six units must be at least 80

Tom has taken five units. His mean mark is 78

To get grade A, how many marks must he get on the last unit?
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The numbers of petals that daisies have can vary. ;* % %

The box plot shows information about the petals for a sample of daisies.

20 30 40 50
Number of petals

For the sample of daisies, what is the median number of petals?

\7

For the sample of daisies, what is the inter-quartile range of the
number of petals?

\7

What percentage of the daisies in the sample has fewer than 30 petals?

\7
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20, There are five people in the Smith family.

s Sk 58 yem ot
Tina Smith, 9 years old Ben Smith,  years old

The mean age of the males is 28
What is the mean age of all five people in the family?

\
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1. There are five people in the Smith family.

Mrs Smith, 38 years old Mr Smith, x years old
Tina Smith, 9 years old Ben Smith, y years old

Helen Smith, 7 years old

The mean age of the males is 28
What is the mean age of all five people in the family?
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24.

Aclass of pupils grew some sunflowers.

The stem-and-leaf diagram shows the heights of 25 sunflower plants.
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(a) What is the median height of the plants?

cm

(b) On the packet of seeds it states that the average height of the plant is 1.9 metres.
What percentage of the plants grew taller than the average height?

\—
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(a) There are four people in Sita's family.

Their shoe sizes are 4, 5, 7 and 10

What is the median shoe size in Sita's family?

\

(b) There are three people in John's family.

The range of their shoe sizes is 4

Two people in the family wear shoe size 6

John's shoe size is not 6 and it is not 10

What is John's shoe size?
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5.

(a) Look at these three numbers.

n 10

Show that the mean of the three numbers is 10

\

Explain why the median of the three numbers is 10

\

(b) Four numbers have a mean of 10 and a median of 10, but

none of the numbers is 10

What could the four numbers be?

Give an example.

‘JUJuty
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Two groups of pupils collected a sample of acorns from the same
oak tree.

The box plots summarise the two sets of results.

GroupA |} |

Group B | |

- -
20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

Length (mm)

(a) Explain how the box plots show the median of group B is
3mm more than the median of group A

(b) Which group has the bigger inter-quartile range?

\ A B

Explain your answer.

(¢) The results from the two groups of pupils are very different.

Give a reason why the results might have been different.
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22. Here is information about a data set

There are 100 values in the set.
The median is 90

The mean is 95

lincrease the highest value in the data set by 200

Now what are the median and the mean of the data set?

\

median = mean =

2ma
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Hanif asked ten people:

‘What is your favourite sport?"

Here are his results.

football

hockey

cricket football hockey

swimming football netball

swimming

football

Is it possible to work out the mean of these results?

Yes

No

Explain how you know.

Is it possible to work out the mode of these results?

Yes

No

Explain how you know.
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18.

Ateacher asked 21 pupils to estimate the height of a building in metres.
The stem-and-leaf diagram shows all 21 resuts.

6 |5 represents 6.5m 6 |5 9

10 |4 8

1" |2 7

(a) Show that the range of estimated heights was 5.2m.

\

(b) What was the median estimated height?

() The height of the building was 9.2m.
What percentage of the pupils over-estimated the height?

\_




